M E8x30 - éx

M1 2%35 - 4x
M12x70 - 2x (A)
M12x90 - 2x (1)
MI12x19 - 3x (C)

M12x21 - 1% (C)

(B M8 - 6x
Je mi12-2x (A )

PP8 - éx
PP12- éx (A, 1)
PP12-8x [C)

PE - 4x
P12 - 4x

MI12x19 - 3x
M12x21 - 1x

M12x90 [10.9] - 2

110 Nl

IC 4000 2

KlA SPORTAGE
Kod: K0465(A.1.C) 17.

7.2022




